DDCE-L-S-MA-CBCS-ECO-IH.ETR&B

2018

_ Full Marks : 100
-Time ; As in the pl:ograrnme

Answer quesnons from all the sections as directed therein.

- GENERAL INSTRUCTION

Answer arry three questrons from Section-A. (12 3—36)
Word L1m1t—7 00-1000

Answer any three questlons from Section-B (8><3—24),
Word Limit-500

- Answer any two questions from Section-C (5‘>.<2=10), ,
~ Word Limit-300
Answer any two questions from Sect10n—D (15x2=3 0)
Word lelt-—l 000 :

SECTION—A
' Pnswer any three. 12><3 36 -

1 ~ Evaluate the contrlbutrons of Jevons to economlc :
~ thought. '

2. Distinguish between the 1deas of mercar_rtilism and

Physrocracy

3 Discuss the Marxian theory of economic crisis.

What role does it play in Marxian macro dynamics?
4.  Examine Ricardo's theory of value. '

51 .‘ D1scuss the views of M. K. Gandhr on Labour and
~ Village Swaraj. ' iy
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DDCE-LS-MA-CBCS-ECO-II-(PPF & FP)R&B

Full Marks : 100 .
" Time : Asiinl the programme
Answer questions. from all the sections as directed therem

GENERAL INSTRUCTION

Answer any three questions from Section-A (12><3—36)
- Word Limit-700- -1000 :

* Answer any three questions | from Section-B (8 ><3 24)
: : Word Limit-500

| An-sw:er any two questions from Sectl.on & (5 x2=10),
~ Word Limit-300
: Answer any two questions from Section-D. (15><2=30),
o Word L1Imt~1000
SECTION—A o
| ~ Answer any three.. 12x3=36
1.  Discuss the allocative role of the Government in
the pr0v1s10n of pubhc goods. ,
2 Discuss the various effects of Public Expendlture

Discuss the Prmcxples/Canon of Taxatlon

X 4. ‘Discuss the Importance of Pubhc Borrowmgs for
' _economlc development. :

Do Define Fiscal Pohcy DISCUSS the stabilisation role
' of Fiscal Policy. - ! e
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DDCE-1-S-MA-CBCS-ECO-HI(Microtheo.) R&B

Full Marks : 100
T1me As in the progra.rnme
" Answer questzons JSrom all the sectlons as dzrected therem

- GENERAL INSTRUCTION

Answer any three questions from Section-A (12x3= 36)
~ Word Limit-700-1000 ‘

~ Answer any three questions from Section-B (8 S 24)
~ Word Limit-500 °

- Answer any two questions from Sec’uon—C (5 ><2—‘10)
: - Word Limit-300 :
Answer any two questions from Section-D (15%2=30),
Word Limit—1000
SECTION-A = .
Answer any three. 12%3=36
1. Define IC Analysis. Discuss how it is better than .
the Marshalian Utility analysis.
2.  Explain Laws of Returns to scale.
3. Explain price and output determination by a firm
‘and an industry under Monopolistic competition.
4. Define Mondpol-istic Market. Explain price and :
output determination under Market.

S 'Explam margmal product1v1ty theory of-

distribution.

[Turn-over]
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' DDCE—I—S—MA~CBCS-ECO.—IV(Macrothgo.)_R&B- - :

2018

Full Marks :
Time : As in the programme ;
Answer questmns ﬁom all the sections as dzrected therein.
GENERAL INSTRUCTION
Answer any three questions from Section-A (12><3—36)
“Word Limit-700-1000
Answer any three questions from Section-B (8x3=24),
Word Limit-500
) Answer any two questions from Section-C (5><2—10)
Word Limit-300
Answer any two questions from Section-D (15 ><2—30)
Word antﬂl 000 :

- SECTION-A |
' Aﬁswer'any three. * = 122386 '

i Explaln the simple Keynesian income'

 determination model. How it is- dlfferent from-

Classwal‘? :

2. What is multiplier? Wﬁte a note on-S_'uperl
Multiplier. - |
3. Discuss the factors govermng levels and shifts of

IS and LM Curves . Siny

4.  What is meant by financial Intermedmmes" Explam
its impact on- Monetary Pohcy
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